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2025-06-01 (Day 64)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-8

BrE) | GEBAK @) | ERE(EH/AR) | EREE (G/R) [ XS R

07:15 273 150.0 25. 83 FH| FHHA@O7:15 KREFEF (KRAFERHE)
07:50 273 150.0 25. 83 FA| FiHR@O7:50 KRFIEHF (RALESR)
08:50 273 150.0 25. 83 FH| FnHA@08:50 KFFEF (RAERER)
09:35 273 150.0 25. 83 FH| FiHA@09:35 KREFEF (KAFERE)
10:10 273 150.0 25. 83 FA| iHR@10:10 KRAIEHF (RAKZER)
10:45 273 150.0 25. 83 FH| FnHA@10:45 KRFIEF CRAERS)
11:15 273 150.0 25. 83 BH| FhHAe11:15 KEIEF (REAERSS)
11:45 273 150.0 25. 83 FA| hHR@11:45 RHMIEHF (CRALESR)
12:15 273 150.0 25. 83 FA| FhHA@12:15 KREFEF (KREAEES)
12:45 273 150.0 25. 83 BH| FhHAe@12:45 KEIEF (REAHEREE)
13:15 273 150.0 25. 83 FA| hHR@13:15 KRHMIEHF (CRALESR)
13:45 273 150.0 25. 83 FA| FnHA@13:45 KREIEF (KRAEHS)
14:15 273 150. 0 25. 83 M| FiHfe14:15 KREEF (RAFERE)
14:45 273 150.0 25. 83 M| FuHAe14:45 KREEF (RAFEHE)
15:20 273 150.0 25. 83 FA| FiHA@15:20 KREFEF (RAEHS)
16:00 273 150.0 25. 83 M| FiHAe16:00 KEFEF (KAERE)
16:45 273 150.0 25. 83 M| FiHAe16:45 KREEF (KAFEHE)
Bit] 4641.0 (170%) 2550. 0 FEWHKEC: 2080.0, PH: 6.0

[Bl;%EC 5675.0 K&, EiFA{RECHE&itkER
#[EKECZE (2007.0 vs 5675.0) 15




FRV (ml plant-1)
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P3-8_0, Day=64 (2025-06-01)
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P3-8

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:35 278 150.0 25. 83 FA| 1B2i%@06:35 B3h (kA{EREEE)
07:35 278 150.0 25. 83 FA| 1Bzi%@07:35 Bzh (KBRS
08:35 278 150.0 25. 83 FA| 1RRi%@08:35 Bz (FKAEREE)
09:35 278 150.0 25. 83 FA| 1BRi%@09:35 B3h (FKA{EREEE)
10:35 278 150.0 25. 83 FA| 1B2i%@10:35 B3h (RAIERSE)
11:35 278 150.0 25. 83 FA| 1BRi%@11:35 Bzh (RAERSE)
13:30 278 150.0 25.83 | KM| {Ri%e13:30 Bz (REAEZZE)
21t 1946.0 (7%) 1050.0 32 #KEC: 2080.0, PH: 6.0

[B;&EC 5737.0 K&, EiFA{KECAE&itkER
#[EKECE (2087.0 vs 5737.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=63 (2025-05-31)
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P3-8

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

06:35 278 150.0 25. 83 FH| 1Bi&@06:35 Bzl (RAEREE)
07:20 278 150.0 25. 83 PH| {Ri%e07:20 B (RAEEE)
08:20 278 150.0 25. 83 FA| {Ri%@08:20 Bz (RAIEEEE)
09:25 278 150. 0 25. 83 BA| {Ri%@09:25 Bz (kAR
10:25 278 150. 0 25. 83 FA| 1BRi%@10:25 B3h (RA{ERESE)
11:10 278 150.0 25. 83 FR| {Ri&e11:10 Bz CGRAEEE)
11:50 278 150.0 25. 83 FH| 1BRi&e11:50 Bzh (GRAEREE)
12:30 278 150.0 25. 83 FA| 1BRi%@12:30 B3h (RAEREE)
13:10 278 150.0 25.83 FA| 1BRi%@13:10 B3h (RAHERSE)
13:55 278 150. 0 25. 83 FA| 1Bi%@13:55 B3h (KRAEREE)
15:00 278 150.0 25. 83 BH| 1Bi&e15:00 Bzl (RAEREE)
16:10 278 150.0 25.83 FA| 1BRi%@16:10 B3h (KRAMERESE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

[E;&REC 5847.0 K&, EiNF{KECAE & M%ERR
#HEKRECE (2220.0 vs 5847.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=62 (2025-05-30)
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